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1 All circles aré st
A) congruent (B5) ( these
( 0N D) m"””‘
Gy cvcl
the
(5]
D | {8 42 1S divided by X2
- X y
emainder W || be )
(A) 7 (B) 6 (hese
X (D) none 0
UV
ate

3. Rexr rystallisation of sodium L"‘mon
gives

(A) Baking soda

B)~ Washing soda

C) Bleaching pow der
(D) Plaster of pans

] re
4. The combination of certain Jar‘aL‘ﬁdﬂ“e g

called as
(A) Mandal (B) District

(C) Gana (D) Hoball

5. P\(’ddlhetw‘f\\\mguf‘;crrphr:m;al\oullypE‘S
of biomes
1. Grasslands of South Africa are called
Velds
2. Grasslands of North America arée
called Prairies
3. These both are temperate grasslands
biome
Select the right answer given below

(A) 2only (B) 1only

(C) 3only &7 All the above
6. Mahabharatha has Chapters
)
LW18 (B) 20
(C) 22 (D) 24

7. Find the missing term (?) from the options
for MN, JQ, GT, ?, AZ, XC

/7
! (A) EW B DW
(C) EX (D) DX
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(A) A @Sl
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FD FA9a1 =1 u“ﬁ:ﬂ
(A) TS (B) 1T
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Feamdi e | !
, =) amfE F AT il 33

?FF:TT#] -4

3. 3 2l sdre FieadTa 9T gfi s
? |

9 o mu wd I FH |

(A) Fad 2 (B) I 1

(C) %13 (D) I7d ol

TRINTE 8§ _ {E e |

(A) 18 (B) 20

(C) 22 (D) 24

MN, JQ, GT, ?, AZ, XC & T 7 (?) farpe

o H 74 FL | :

(A) EW (B) DW

(C) EX (D) DX




11.

ntains

Himalayan mou

select the right one-

(A) The Himalayan

weak and flexible iN
structure

(B) Himalayas are dissected py fast-

i hich aré in their

moumains are yound,
their geological

youthful stage
(C) Both are wrong

Jor Both are right

42. Thepointon x-axis which s equidistant from
7, 6) and (- 3,4)i

the poim(
@ 1.0 (2,0)
C) (4.0 (D) (3,0

imes that of his son.
f father was 8 times
he present age of

The age of fatheris 51
3 years ago, the age O
that of his son. Find t
father.

(A) 42 years

(B) 48 years

(C) 40Qyears
35 years

13.

%

13.

mer
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ST (g) lnd.ore- (B) Kaithal
(C) Bhiwani (D) Karnal
/
19. One of the South Asias oldest road in

15,

Four cubes each of side § o are joined

o end. Th i he resulting
Solid i< @ Surface ared
(A) 225 cm?

‘--1(2‘}’20 whid
450 C'n.
©) 500 cm
16. :
wh'Ch of the {

ollowing form an AP ?

:g) 1N1,2.2.3.3 g

) 0.3, 033 0.333, . ..
Kt 11

\:@’42”4 : V18,V
V2,8, V18, V32, ...
17. l' ok »

+ 'means ‘~', '~ means 'x', 'x' means =’
a:d * means ‘+' then, 12x4+12+5—-3=
(A) 4 (B) 15

(C) 30 UD”'O/

Indori river rises near

Haryana is
(A) Hundred Feet Road

(B) M.G. Road
(C) Main Tank Bund Road

\Wd Trunk Road

20. Ifthe areaofa semi circular field is
30800 sg.m. then the perimeter of the

field is (use n= 2%)

(A) 240m 720m

(D) 840m

(C) 460 m

v

By
B

(‘;;fn N;

- o R T G
T UL
w |
14! wfeamm # e simifer wiH
atzr B
(A) 5 (B) 6
(C) 4 (D) 3

g & HfY. *an arel =LA srg= U A9 1S
m & | i 38 1 gef AR 2

225 cm?
20 cm?

450 cm?
500 cm?

15.

(A)
(B)
(©)
(D)

Erfafiad 1 & A -1 U T syoft =T 7
A) 1,1,2,2,8,3,...
(B) 0.3,0.33,0.333, ...

fad

(C)r =)
2

D) J2,48.418,432....
17. AR F e, I K, K H 1
3?1-{'+'W3T‘2j‘+'%,?ﬁ12x4+12+5—3=

16.

B N [N

(A) 4 (B) 15
(C) 30 (D) O
P dtmIeE Rl
= (A) $R (B) e
(€) far (D) AT
19. ﬁmqﬁmaﬁg@qﬁnmﬁﬁ@@gﬁm
Ik Yl
(A) @2
(B) wH.Sfl. TS
(C) TAH QTS
(D) W$IH TS
@ afs v HHFATHR Ad H FTH
30800 1. 1. & d @d <hi uftamd 2
(n=2%ga‘mai) \
(A) 240 m (B) 720m
(C) 460 m (D) 840 m
< e
U\(}E-/ ) ‘q}' - g ]
- IR F = ——
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26. WHFWI X* +y2x-4=0H & 2

A) \/3 \/5

D) 0,0
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472018 (1) (E10) Latements 1S
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27. Which of the followi™®  Rights
ncorrect about Funda™® _ janger these
-~ ma)®
\ (AY Newtechnologies ™
) rights __aland political
(B) Equalityisoneofth®™  gyperior 10
ideals in India they*
ordinary laws mormr and
(C) In India these aré )| part of the
political rights nted Pt
Co ution JasMagna
c
(D) nIndia i tis rightly dest cribe
Carta of India
-es about LEDs
28. Read the following sentences &

and choose a correct optio"

(A) They contain mercury
‘qﬁé\ “They consume less electricity because
& they produce very less heat
(C) Both (A) and (B) are correct

(D) Both (A) and (B) are wrong

29. Mahila Police Volunteer systemis introduced
in two Districts. One in
(A) Panipath
\UBy Karnal
(C) Kurukshetra
(D) Ambala
30. If ‘'SUN’ can be coded as ‘54’ then ‘MOON'
can be coded as
(A) 58 (B) 51
A 57 (D) 47
31. During 1857, Sepoy mutiny the Moghul

emperor Bahadurshah Zafar was arrested
by
Main Hudson
(B) John Nicholson
(C) Sir Hugh Rose

(D) Colin Campbell
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() 3 (8) 2 @€

(C) T 5
(A) 3 (B) &1 7T &

(D)

ofien gfer w9 dah FoTed < freti # TF

TR ITH?
RIEIRG
FETA
g?éﬁ
ATl

29.

30. 'SUN' %1 %2 ‘54’ & @ ‘MOON’ &l &

(B) 51
(D) 47

1857éﬁfwraﬁméaﬁmgrmm
TEER SR A g Fromar fomn |
(A) FH E2EA

(B) W[ ﬁEFTFFH

(C)

(D)
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;{-‘ number in the Sequence
125, 216.

. Ly 27
(C) 25 (D) 16

33. The dance Performed by women in

bridegrooms hoyse is

(A) Rasleela

(B) Phag dance

(C) Loor dance
\_(B)" Khoria dance

34. Match the Plant structures given in the
Column — A with functions given in the
Column - B,

Column - A Column -B
I. Stomata 1. Absorption of
water
Il. Xylem 2. Transpiration
lll. Root hairs 3. Transport of
food
IV. Phloem 4. Transport of
water
5. Synthesis of
carbohydrates

\f;b}ttb&answer code.
[=2,11-4,11-1,1IV-3
(B) 1-1,11—4,11-3,IV—-2

(C) 1—=1,11—-4,11-2,IV-3
(DY =5, -3 N1 V-2

35. Harshavardhana ruled Thaneswar during

W 647AD  (B) 400 — 350 BC

(C) 200-250AD (D) 250- 150 BC

36. State flower of Haryana is
(A) Jasmine
Sacred Lotus
(C) Rose
(D) Hibiscus

g2, &

il | (B) 27
(A) 25 D) 16
(C)
zﬁ%mﬁaﬁtﬁmﬁmmﬁg
33. &
(A) W
(B) ki
©) &
(D) -
W,Aaﬁqm\ﬂﬁﬁmﬁm—ﬁi
5 ﬁﬁqmwiﬂﬁmsm
e - B
e~ A FHIAH
L 1. SATEINSUl
||, SECH 2
T2 LB 3. SISA H
X qiged

. 4. o 1 giEed

5. FEERSE &

AN

IR F T |

4 1=2,11=4,11=1,1V =37
B) 1-1,11-4,11-3,1IV-2
(C) 1-1,11-4,11-2,IV-3-
(D) 1-51=3,ll-1,1IV-2

35. QYA A YA W o oRH YIEA
o |
(A) 606— 647 AD
(C) 200-250 AD

(B) 400 - 350 BC
(D) 250- 150 BC

36. TR 1 T 79 @
(A) =k
(B) uel
(C) Tom=
(D) Ts&
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37. PREW._means Engineering
\_(A) Population Regula®
Wing omic Wing
(B) Panchayath Raj ECY oering Wwing
(C) Panchayath Raj End Wing
(D) Power Rules EffectV’
| lies in which
; 38. Which mmm)n“‘r.,\l.u\\“)kl ot 2
: British company agents .,mlh'\‘ in first
f (A) Kolkata (8) Bombay
\__(C)"Madras (D) Kocch
39. Haryana has Dltricts s on
2017 - 18
Ay 22 (8) 25
(C) 24 (D) 28
40. Which of the following rivers is not a
tributary of Brahmaputra ?
(A) Kameng (B) Subansiri
(C) Dihang \.‘DySTm‘amarekha
41.  Following is not a part of neuron
\_/('Kf' Collecting duct
(B) Dendrite
(C) Cell body
(D) Nucleus
42. Read the following statements and choose
the appropriate one
(A) India has the largest number of medical
colleges in the world
(B) India is the fourth largest producer of
medicines in the world and is also a
large exporter of medicines
(C) Both (A) and (B) are wrong

\_4B] Both (A) and (B) are right

43. Kapidhvaja is another name for
(A) Krishna (B) Balram

W']ﬂ\uuna (D) Karna

39.

40.

/
41.

42

/
43.
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PREW
jlation Regulati

Popt
Wing
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ons E nqnmrmmq

(A)
yath Raj EC onomic Wing

(®) h Raj | m}uu:'lll"lw”"]

Pant hayal

) ‘ :
(H) Power Rules Effective wing
l / -t 3 Uale
fferfid o a o gre A farled -1
v;l";l ST 37l rfurd &u ¢ ]
i :
(A) ehicrehldl (B) ]
(C) W= (D) &=
s e |
=fqmom | 2017 18 =l
(A) 22 (B) 25
(C) 24 (D) 28
K & e w1 GeIE
Frferfiga © 8 HH-Hl <l STelqA °hl
A el e !
(A) T (8) G
(C) fegm (D) it

Ereferfiad dfre! =1 T W el € |
Hire atfedhl

(A)

(B) 2313

(©) e frem
(D) FzF

freferfiaa wul 1 wfeu i 3uge R |
(A) W@ o fva & watfus afewa Hicd
tl

id faga § cansti &1 SN gad =0
IcqTEeh 3R U we fafas © |

(B)
(C) (A) 3R (B) 2l e &

(D) (A) 3R (B) 341 uel &

e
(A) e
(C) 3sH

1 TEU AN § |
(B)
(D)

S G|
ol
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h held drum 18 called as

(B) Mrudangam

(A) Dolak

(@) Damru

©) T abla

Find the word which i different from the
other 3 options given below
(B) Bhutan

(A) Nepal
(C) Pakistan |L(B) Manipura

45.

ain Haall is famous for his
(B) Sonnet
(D) Mushairas

Altaf Huss
(A) Dohe
_(G)~ Poetry

46.

Two coins are tossed simultaneously. The

probability of getting exactly two tail is

® Y
4 o1 )

3

47.

(A) 1
(C)

Tangri river is the tributary of
(A) Sahibi (B) Indori

\_tej Markanda (D) Ghaggar

49. Resistance of a metal wire of length 1 m
is 26 Q at 20°C. If the diameter of wire is

0.3 mm, what will be the resistivity of the
metal at that temperature ?
(A) 4.84 x 105 Qm
(B) 3.84 x 10 Qm
(C) 284 x10°Qm
1.84 x 10°° Qm

48.

50. Which of the following natural resources is
referred as ‘buried sunshine’ ?
(A) Gold (B) Silver

\_ter Coal (D) Shale gas

5sina —-3cosa is

44.

45,

)
46.

47.

51. If5tana =4 then
5sina +2cosa
equal to
L ® -
(C) 2 (D) O
SN\
f= g
I C A S

/e

48/ T _—

49’ 1@.?@%%@‘“@%

a/2018 (1) (E1 0)
ammqu\am‘i“ —

@) TE™
(D)

ueh EM t‘
;1,‘(.'&11"11
|
(A) @
c) ™

r‘l" glgﬂa

ﬁfwm\ﬂmﬁﬁ&q%l
B) ™

(A) 3@ (D) aforgt

‘ﬂﬁ"mﬂ 5 foro afe@ @ |

ST @ (@) W
( e (D)

A) .
(©) e mq:ﬁﬁasﬂ@% l
?
A
s 70 ® )

A 1 ;
D)
PR %

v % Th

#

21 Uz |
/r \ ¢
nH

(A) e

oy a0 a1 wfauE 20°C
hH1 ™ 0.3 fa .. 2 dl
feyereran @ B ¢
2
¢

pes

o 26 Q F | 36 AN
< e T g
(A) 4.84x10° QM
(B) 3.84x10°° Qm
(C) 2.84x10°Qm
(D) 1.84x10®Qm

(4
292

50.¢ Freiferfiad § & form spfereh &1d A <ol €3

Qe FEA B ? :
(A) E (B) =
(C) =Fel (D) 3 7|
51./ Ifd 5tana = 4 A1 53".““‘3005(1 \
T S5sina+2cosa %
1 5
L ®
i) 2 () 0
.9-
3 ) Q

ek g
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741 °

1
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hebanksof | - 62« @) T

Vedic civilisation " \ : p) FE
river ) Gang Al

( o
tA) Sarasvatl . Kaver ! ne GST® 7
i \

z qna -G 4!
Ffrgd ™

= arfid © ¢
Yamuna g goods O 53 R 9 FL A 4 0% FHTI
53. UnderGST,w "‘\‘ 1ax rate | 1
X¢ 8 } l
ed
: \
N ~

(A o
. ” 1T
R | (B) 1,2 33 4
(A
B | ©) 1 0 4 FAR 5
c D 334 g4l
Z ( Gt
(D) Allthe a S o +ft FAFER GIRG
/ s HAHIG %
54 « & nan.melal but it is lustrous 54. : () FA
= S ‘ (A) TARH it
A) Flourine (8): Chioring ‘ A B (D) SETESH
‘ (C) @
C) Bromine D) lodine ‘
i | £=f "'-—1**::'»1»'44‘5"—1"?"‘
‘ SatatE@d | © #4973 >3 L)
55. Which among the following countries with 55. ™ d g
i v r ‘ IR F A8l & ¢
which India does not have Free Trade \ T L A
ik " (A) zfeqor I

(A) South Korea '

B ELIGH
(B) Japan ‘ \
(C) Brazil (C) 17‘
(D) Thailand (D) d9T3cis
56. Jagirdars means 56. STIER &1 379 @
(A) Bankers (A) dHL
(B) Landlords (B) SHIER
(C) Agriculturists (C) F9+
(D) Businessmen (D) FHER

57. Saltrees are found in 57. 9dig®_ ® e TEE

(A) TE & 34
(B) HIud & a4
(C) Ued® & a4
(D) FHAT F a9

(A) Gurgaon forests
(B) Sonipat forests
(C) Rohtak forests
(D) Kalesar forests

mScanner



59.

60.

61.

62.

Sme e

not like the other

® %2

7/
5/ 0) /28

i ts whose sum 1S
onsists of 29'9' :
Anumber® the number, the digits

the number 1S

© 13
(D) noné of these

Campaign against female foeticide is

called
(A) Yatra Scheme

(B) Bhagya Jyothi
(C) Beti Bachao, Bel pPadhao

(D) Lady Police Scheme

Consider the following statements with
reference 10 Constitution Amendment Bills.

1. It can be introduced by the private
Members of the parliament.

2. The President cannot disagree over
it, he can only send it back once for

reconsideration.
Which of the above is /are correct ?
(A) 1only
(B) 2only
(C) None
(D) Both 1 and 2

The famous Patriotic song, which stirred the
common people of their nationalism during
freedom movement , “Sare Jahan Se Achha
Hindustan Hamara” was written by
(A) Mirza Galib

(B) Mohammad Igbal

(C) Rabindranath Tagore

(D) Sadaat Hasan Manto

-11-

58.

59.

60.

61.

62.

42018 () E10
ﬁma,ﬂmama |
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(©) 7/28 A

ll_?,{,é[é‘n . t \
i 18 1% “a’m@m N
ff agel
(A) 31

mﬁﬁﬁ?—ma‘é%?
(A) &ad 1
(B) Fd 2
(C) iR

(D) 1323
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(A) sl mics

(B) HIEHE gheTe

(C) ey T

(D) HIEd T W
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63. Il ~3isa zer ’”Hw.m-"V‘"“"""""
p(x) = 27 4 3x~H# ® -
(A) 0 3
(<) (0]
.,m“'“‘l"""”""
64. The solutions of 8Y A5y =0are
V2x4V5y =0, vo*
(A) x Y vV
(B) x 0,y 1
(C) no solution
(D) infinite solutions
65 Haryana Assembly House 1S at

(A) Rohtak (B) Ambala

N =5 i
(C) Chandigarh (D) Panipat

66. When object is placedat center of curvature
of a concave mirror, the image size IS

(A) Enlarged

(B) Diminished

(C) Same size as that of object

(D) Point-sized

67. Which of the following is not a right
difference between democratic and other
forms of Government ?

(A) In Non-democratic States don't not
require all citizens to take part in
politics.

Both forms have universal adult

franchisee, i.e., one vote and one

value.

Most non-democratic Governments

would like citizens not to take part in

politics.

Democracy depends on active political

participation by all the citizens.

(B)

(C)

(D)

68. The zoo had some Lionsand some Parrots.
The keeper counted 15 heads and 50 legs,
then the number of Lions is
(A) 9 (B) 10

(C) 8 (D) none of these

? o | (]
L i

o 1 T T

oy 4 3X—3
4 :“,: d',,‘,!]l‘ p (%) 2% 4 X
s 4%t a1 AAE
4 ® -1
(A) :J (D) 3
(C) g ot
e 1Cadl
G Gy =0,48x+V12Y £
64 ZR AU Hes
£ yorreft & 5 8 ‘
(A) X J2, ¥ J5 B
B) x=0.Y } s
(C) ,“é o Bl
(D) Fd B
H 5 |
o fT AT 7
g5. &AM ATAT
A e B) A4
( ) (D) '”'”qd

(C) UL » S e
e F1 T A adfor % AFA T

el \ b
% @) Sl 2 dl ufefera &1 AP €

(A) aftd

(B) =21 g3

(C) o EAA

(D) ferg @ AT I

- 2% SO A
freferfiaa 4 9 HH-41 Argpartaen AL H
?

3 7wt 3 o wE S ©

(A) r-cirRditE T | Terifa | “ﬂTTl
e ey AT 3 foru, stAvE A |

(B) @+ =i § i a9k AAUHR
I THAd TH AH & |

(C) watfish TR Gt dTed! & (%
qrrfeer Tt # wfenfie 3 =

(D) ke At At g At TsAfas
wfeufiar @ st 2 )

68. T fafeamn A 3 ¥t S A ¥ | svpas
4 15 & 3t 50 2t it | 97 A1 e 2
(V32 () 10
GFL (0) T & %1 7

/
67.
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‘ L
with appmpuam prepositions. Pick out the wr
Fill up the blanks ot
coffe® 73. (A) ReTOTy
69. |prefe ted (B) Pedan"w
(A) 3@;\“‘5' (C) [rretrV
(B) not (D) Plena’
(e 74. (A "‘""mmed
(D) than (B) |n"|n5’c
ihe second floor of the (C) Incongf“ouse
70. Our flatis Au
pbuilding R ons
jons:
(A) in the correct
(B) by e | had changed MY
(C) at 75. | notified |
D) on address.
— (A) that -
Change the give" sentence into indirect (B) to‘the ba::ankthat
— (C) with the
| (D) the bank 2!
“ hould do your : | would
) d to the boys, You S y last night.
T B 76. | decided tostayatnome tirge 4
o hat you should d have gon® A hl—— - s |
(A) |sadto the boys thal'y ould do (A) wouldn't have been
their duty. ‘ (B) hadn't been
(B) |toldthe boys that they should do their (C) wasn't
duty. (D) weren't
C) |toldthe boys thatyou should do your
© duty Choose the correct form of the verbs.
(D) |ordered the boys that they shoulddo | 77. Tom his hand when he was cooking
your duty. - the dinner.
(A) is burning
72. The teacher said, ‘I am busy now”. (B) have burnt

(A) The teacher said that he was busy

then

(B) The teacher says that he 1s busy

now
(C) He was busy says the teacher now.

(D) The teacher told that | was busy now.

(C) was bumning
(D) burnt

There is a programme on television that
| want to watch. _in five minutes.

(A) Itstart

(B) It must start
(C) Itstarts

(D) ltis starting

78.
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